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- In Crocodilia, .......ccvnvnennee ribs are present in most vertebrae.

- In Rhynchocephalia, the cloacal aperture is.............. and there is no

- In Serpents the vertebrae have accessory.......cceeeeuenneceinnnee

- In Birds, sound production is from ............cceeeneen.

- In Carinatae, the terminal caudal vertebrae are fused to form

- In Mammals, the quadrate and aricular bones are transformed into
........................ and ...........cceeveueeeee....0f €ar apparatus.

- In Mammals, neck with ... vertebrae.

- In Mammals, the tympanic bones are fused to form the .............. which
is further modified into ..........ccoeeveieiiiiiniii.

-In Mammals, .....ccocevvviiiiinnnnnnn connecting the two cerebral
hemisphers.

- The external ear pinna is present in mammals exceptin .....................
AN .ovininiiiiiii e

- In Mammals, the opening of trachea into the buccal cavity is guarded by

- In Eutheria, testes are...........cccevuneen contained in ........cccoeuvenene

- In Lagomorpha, two pairs of present in the upper jaw,.
bt wssssssssmasssunssnis are absent.

- In Cetacea, hairs are reduced in adults, only few .............. on the snout.
- InProboscidea, the incisor teeth of upper jaw are greatly elongated and

- In Sirenia, fore limbs are modified into ... .. for swimming.

- Members of Chondrostei have..........c.ccoeoieieiiinnaes tail.
- Epidermal glands are present keeping the surface moist for.................
in Amphibia.
2- Mention the taxonomic characters of four of the following: (20 Mark)
a- Bradyodonti b- Urodela
b- Sauria d- Ratitae
e- Carinatae - Metatheria

Best wishes
Prof. Dr. Usama M.Mahmoud




image8.jpeg
Assiut University - Fourth year Exam (Zoology)

Faculty of Science Course name:Comparative anatomy
Zoology Department Course code: ( 432-Z)

Time: 2 hours

Answer the fourfollowing questions

Give attention to clarified your answer in the third and fourth questions by
clear drawing and explanation

First question: Fill in the blanks (15 marks)

1. Integumental glands originate from............ , while scales from............
2. Major structure in which the integument is modified for life land...............

3. Name two integumental structures do not contain enamel.....................

ANl ieassounsmages
4. Cells of epidermis are rich in .............. , while cells of dermis are rich
Meeiienneinninnnnn fibers.

v

. The bony plates of extinct fish are derivatives from........................
6. Senise capsuiles arISES TOM. .. ..ns prrornssnsmmieinnssshsssinsmieisssisng van sitsnns
7. The malleus is derived from ...........c.ooiviiiiiiii
8. The skin shed by snakes and some lizards includes........................

9. The circumorbital series of tetrapod skull are...................cooeeiiinn

10 The'vertebrae develops fromy; uussseds susivsvsssbonaismumsssnsn
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Second 'guestion: (20 marks)
ChOQ_se the single response that is the correct answer for the

following

1. Similarity based upon similar function names:
a) Anatomy b)Analogous
c)Homologous d) Histology

2. The epidermis produces sweat in

a) Fish b) Amphibia
c¢) Reptilia d) Mammalia
3. The light organ of fish arises from
a) Mesoderm b)Dermis
c) Epidermis d) None of the above
4. Mammalian integumental cell associated with the immunity is
a) Malpighian cells b) Merkel's cells
c)Langerhans d)Sebaceous gland

5. Mammalian that have no sweat gland
a) Duck bill b) Deer
c)Elephant d)Chimpanzee
6. Dermal armor in living vertebrates in
a) Snakes b) Chelonia
c) Chelonia and Armadello
7. The primary functions of contour feather are
a) Display and insulation
b) Aerodynamic and insulation
c¢) Display and sensation

d) Protection and sensation

)
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8. Which avian species has poison feather

a). Larusargentatus b) Falco tinnunculus’
¢) Hooded pitohui d) Columbia livia
9. True horn forms by the *
a) Epidermis b) Dermis
¢) Epidermis and dermis d) Bony growth and keratin

10. Basisphenoid is formed by the ossification of
a) Prechordal plate b)Parachordal plate
¢)The anterior part of parachordal plate
d)Occipital vertebrae .

11. Presphenoid bone is formed by the ossification of

a) Basal plate b) Trabecular plate
¢) Ethmoid plate : d) Parachordal plate
12. The frontal is in the category bone
a) Replacement b) Dermal
¢) Prechordal d) Endochordal
13. Which of the following structures is not phylogentically related to the
other?
a) Palatoquadrate b)Anicular‘ bone
¢)Quadrate bone d)Incus

14. Which of the following bones does not form a part of the secondary
palate of Alligator?
a) Premaxillae b) Maxillae
c) |Palatine d) Vomer
15. Hyostylic jaw suspension is found in
a) Primitive elasmobranch b) Some osteichthyes
¢) Selachii and in all teleostei ¢) Crossopterygian

3
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16. Streptostylic skull in
a) Turtles 7 b) Lizards and snakes only
c) Lizards, snakes and birds

17. Fate of the otic process

a) Quadrate b) Articula

¢) Angular ) d) Jugal
18. Developmental changes in “the location of mesoderm that form
vertebrae

a) Intersegmental to segmental

b) Segmental to intersegmentai

¢) Visceral to somatic

d) Epaxial to hypoaxial
19. The centra is formed by

a) Extension of neural arch  b) Sclerotomes

¢) Expansion of the ventral arches d) Mesodermal somites
20. Fusion of all vertebral elements form

a) Aspondylous vertebra

b) Sterospondy! vertebra

¢) Aspedospondyl vertebra

d)Holospondy! vertebra

Third question: (10 marks)

- Describe and compare the structure and the
developmental stages of placoid and bony scales.
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Fourth question:

g (5 marks)
Describe and illustrate one only of the following

A- The amphistylic Jjaw suspension
B- Generalized avian hyoid system

C- E.M. illustration of vertebrate keratinized epidermis.

‘Good Luck

[
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Assiut University

Faculty of Science

Zoology Departmnt Time: two hours
First term Final Exam 2015/1016 Code. No Z413
Course title: Hematology- Fourth grade

Answer these questions:

Q1- Answer by \ or X for these sentences: (20 marks, one mark
each)

1- Maintenance of normal arterial blood pressure Plasma proteins

give the blood some viscosity to prevent its slow outflow from the
arteries. ()
2- Ceruloplasmin is metaloprotein in blood plasma prev enting fenton

reaction so ceruloplasmin perform this conversion of Fe’ to Fe” without

formation of any free radicals. ()
3. Hematocrit value is less in small vessels than in large ones and in
veins than in arteries. G
4- Liver cirrhosis may lead to megaloplastic anemia and pernicious
anemia. ¢)
5-If albumin or libricogen or globulin concentrations increased in blood

plasma, it will lead to increase in erythrocyte sedimentation rate. ()
6- Spherocytosis is bereditary transmitted, RBCs are more spheroid than
normal and are easly fragile and destructive. It is usually appear in
children during second decade of life. ()
7- A slight increasein red cell osmolarity in the arterial blood, this leads
{0 a slightly higher haematocrit. ()
8- Disturbances in kreb’s cycle lead to negative effect on hemoglobin
synthesis. ()
9. Haemorrhage mnay resulted from vitamin k deficiency due to
inhibition of prodiction of prothrombin, fibrin and factor X from

liver. ()
10-During blood rans{usion. if the blood of RH +ve transfused into an
individual with Rl —ve, then, there will be haemolytic anemia. ()

11-Emotional strzss leads to activation of the parasympathetic nervous
system hormones could increase blood volume by enhancing renal
reabsorption of sodium. ()
12- The action ¢f plasmin is breakdown of fibrin, [ibrinogen, factor V
and factor VIII.and this enzyme secreted from liver and
eosinophils. ()
13- The cause >f anemic hypoxia is due to decreased total hemoglobin,
while histotox¢ hypoxia is due to insufficient oxygen reaching the
blood. ()
()

14- Liver diseases and viral infections may lead to aplastic anemia.

M
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Assiut University

Faculty of Science

Zoology Departmnt Time: two hours
First term Final Exam 2015/1016 Code. No Z413
Course title: Hematology. Fourth grade

Answer these questions:

Q1- Answer by \ or X for these sentences: (20 marks, one mark
each)

|- Maintenance of normal arterial blood pressure Plasma proteins

give the blood some viscosity to prevent its slow outflow from the
arteries. ()
2- Ceruloplasmin is metaloprotein in blood plasma preventing fenton
reaction so ceruloplasmin perform this conversion of Fe’ to Fe' without
formation of any free radicals. ()
3- Hematocrit vaiue is less in small vessels than in large ones and in
veins than in arteries. .
4- Liver cirrhosis may lead to megaloplastic anemia and pernicious
anemia. )
5-If albumin or libricogen or globulin concentrations increased in blood
plasma, it will lead to increase in erythrocyte sedimentation rate. ()
6- Spherocytosis is hereditary transmitted, RBCs are more spheroid than
normal and are easly fragile and destructive. It is usually appear in
children during secend decade of life. ()
7- A slight increase in red cell osmolarity in the arterial blood, this leads
to a slightly higher Jaematocrit. ()
8- Disturbances inkreb’s cycle lead to negative effect on hemoglobin
synthesis. {3
9. Haemorrhage nay resulted from vitamin k deficiency due to :
inhibition of prodiction of prothrombin, fibrin and factor X from

liver. ()
10-During blood rans{usion. if the blood of RH +ve transfused into an
individual with Rl —ve, then, there will be haemolytic anemia. ()

11-Emotional stezss leads to activation of the parasympathetic nervous
system hormones could increase blood volume by enhancing renal
reabsorption of sodium. ()
12- The action ¢f plasmin is breakdown of fibrin, librinogen, factor V
and factor VIII.and this enzyme secreted from liver and

cosinophils. ()
13- The cause > anemic hypoxia is due to decreased total hemoglobin,
while histotoxc hypoxia is due to insufficient oxygen reaching the
blood. (
14- Liver diseases and viral infections may lead to aplastic anemia. (

)
)

Q




image3.jpeg
15- Chronic gastritis may increase the fragility of erythrocytes and

hemolytic anemia. ()
16- Haemophilia is an inherited disease transmitted by females to males.
.................................................................................. ()
17-Haematuria or haemoptysis lead to loss of iron in addition to
production of megaloblasts. ()
18- Free hemoglobin in blood, causes shift the vertical part of O,
dissociation curve to the left . ()
19- RBC Buffer Systems depends only on Acid hemoglobin/Potassium
Hemoglobin. ()

20-Glutathione could regenerate oxidized ascorbic acid and in turn ,
ascorbic inactivated the oxidized vitamin E to the activated state of

tochopherol. ()

Q2

Answer six questions only (30 marks: 5 marks each).

1-Compare between both factors which increase and decrease ESR? 4
items each.

2-Explain the mechanism of blood coagulation?

3-What the differences between hemophilia and Purpura? 4 items.
4-What is the mechanism of favism with showing four symptoms?
5-Compare between the two anticoagulants heparin and dicoumarol? 6
items.

6-What are the factors affecting blood volume? (6 points each).
7-Compare between blood picture in pernicious anemia, iron deficiency
anemia and Cooleys anemia? Four items each.

8-What is the importance of glutathione in erythrocytes? (6 points).

With my best wishes and great success,
professor Dr. Mohamed Bassam Al-Salahy

()
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Assiut University Exam for Science Students First semester

Faculty of Science Course title: Insect Ecology Academic year: 2015/2016
Zoology Department Course code: 443-E Time: two hours
Answer the following questions: (50 marks)

Q1- Choose the correct answer from the given between brackets in fen only of the following:
(10 marks)
1) Elements of the ecological niche of an insect include the (systematic position — scientific
name — feeding habits) of the insect.

2) The declining of only one of two populations living in a habitat with scarce resources could
most probably be due to (temperature — humidity — competition).

3) Which of the following lists includes only abiotic factors that affect a herbivore insect? (soil
minerals, atmospheric oxygen and nitrogen fixing bacteria — temperature, food quality, and
relative humidity — rainfall, soil pH and wind speed).

4) An increased abundance of a predator beetle population could be due to (reduced death rate
compared to birth rate — reduced birth rate compared to death rate — reduced number of
preys in the habitat).

5) (Interaction between different communities — Solar radiation — Temperature) is the most
important factor affecting the ecosystem.

6) The carrying capacity is a kind of population (density — structure — age).

7) The number of Collembola per cubic decimeter of soil is (a relative measure — an absolute
measure — an effective measure) of Collembola population in the soil.

8) The banks of Nile River are parts of the (mesosphere — biosphere — ionosphere).

9) Choristoneura fumiferana is a moth living on spruce trees in Northern Canada and parts of
Northern Europe. It is therefore considered (thermophilic — psychrophilic — saprophytic).

10) The physical place where an insect lives is called (niche — ecosystem — habitat).

11) Different insect species interacting only with each other in a certain area make up (an
environment — a population — a community).

Q2- Define the following terms: (18 marks)
a) Hydrosphere b) Concealing coloration c) Eltonian pyramid
d) Decomposers e) Relative measure of population density ~ f) Tripedal gait

Q3- Write brief accounts (with drawing and equations whenever needed) on four only of the

following: (22 marks)
a) Population growth b) Two different modes of predation
c) Carbon cycle d) Effects of temperature on insects

€) The diversity of reproduction strategies in insects.

End of questions Good luck
Examiner: Prof. Dr. Medhat M. Sadek
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15- Chronic gastritis may increase the fragility of erythrocytes and

hemolytic anemia. )
16- Haemophilia is an inherited disease transmitted by females to males.
.................................................................................. )

1 7-Haematuria or haemoptysis lead to loss of iron in addition to
production of megaloblasts. ()
18- Free hemoglobin in blood, causes shift the vertical part of O,
dissociation curve to the left . {)
19- RBC Buffer Systems depends only on Acid hemoglobin/Potassium
Hemoglobin. ()

20-Glutathione could regenerate oxidized ascorbic acid and in turn ,
ascorbic inactivated the oxidized vitamin E to the activated state of

tochopherol. ()

Q2

Answer six questions only (30 marks: 5 marks each).

|-Compare between both factors which increase and decrease ESR? 4
items each.

2-Explain the mechanism of blood coagulation?

3-What the differences between hemophilia and Purpura? 4 items.
4-What is the mechanism of favism with showing four symptoms?
5-Compare between the two anticoagulants heparin and dicoumarol? 6
items.

6-What are the factors affecting blood volume? (6 points each).
7-Compare between blood picture in pernicious anemia, iron deficiency
anemia and Cooleys anemia? Four items each.

§-What is the importance of glutathione in erythrocytes? (6 points).

With my best wishes and great success,
professor Dr. Mohamed Bassam Al-Salahy

()
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Acadmic program : Zoology
First Semester

Assiut University
Faculty of Science

Department of Zoology Branch: Zoology
Course code 433Z Course title: Vertebrate Taxonomy

Total Marks50 2015/2016 p Allowable time: 2 hours

Answer the following questions:- .
1- Complete the following: (30 Mark)
-The upper jaw of Bradyodonti is fused to the braincase and the
.......................... is not involved in jaw suspension.

- In Hagfishes the gill pouches open to the exterior either ............... or
- The gill slits are ventrally placed in ...........ccooveiiinnnne

| | RO Rt the gills are covered by a flap of skin.

- The pelvic fins are modified to form claspers in.....................

- The paired fins have a fleshy lobe at their base in ..............cccceenie
| O T o i there are two separate dorsal fins.

- In Halecomorphi is present together with
NUIMETOUS. ¢euuenererrnerrsnennesnernnensessnses

- The frontal and parietal bones are................coeeeet in the skull of
Anura.

- Limbs and girdles are...........cccceeeuiennnne and the body is worm-like in

- The skull has .....ccoeeviiiieieniiiinnne. in Chelonia.

-The quadrate boneis .......coeevvenieieniinisd ... in Crocodilia skull.

- Skull of birds is.............. ... i,e with single occipital condyle.

- In Birds vertebrae with ............cccooeiiiii centra.

- Eyes of birds are large provided with ...........c..ooeeiie

- Except in Monotremes and most of the marsupials...........cccooeeiiinnee
is present which supplies nourishment to the embryo.

-Mammary glands without............c...oooiieiine in Prototheria.

- Well developed ........oeuvvnvninninnnne is present in females of Metatheria.
- Class: Chondrichthyes is divided into subclasses................... and

....................................... and





